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1.Which of the following is an important consideration when configuring BFD?
A. Setting a very high multiplier to avoid false positives

B. Using the same BFD interval on all devices in the network

C. Adjusting the BFD interval and multiplier according to network needs

D. Disabling all other failure detection mechanisms

Answer: C

2.In the context of Layer 2 switching, what does RSTP stand for?
A. Rapid Spanning Tree Protocol

B. Routing Switch Transport Protocol

C. Redundant Switching Tree Protocol

D. Resilient Switching Transport Protocol

Answer: A

3.What is the default route preference for a static route on a Junos device?
A. 130

B. 15

C.10

D.5

Answer: D

4. Which statement is correct about a five-stage IP fabric topology?
A. There is a maximum of five hops between any end-devices

B. They are commonly referred to as interconnected data centers
C. There is a maximum of three hops between any end-devices

D. They are typically deployed in small to medium data centers
Answer: A

5.What is the primary purpose of using aggregate routes in a network?
A. To dynamically adjust to network changes

B. To summarize and reduce the number of routes in the routing table
C. To filter unwanted traffic

D. To statically define a route to a specific destination

Answer: B
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